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TRADE TEST FOR CRAFT INSTRUCTOR
(MODULAR PATTERN)
"APRIL-2012

TRADE: WIREMAN TIME: 3 HRS.
MODULE: TRADE TECHNOLOGY-II MARK: 75
SUBJECT: THEORY

Note: - Attempt all questions.

1. A (i) Speed ofaé4-pole50 Hz alternator is

(if)

(i)

(iv)

(vi)

(vii)

(viii)

(ix)

(1x10= 10 Marks)

A. 750 r.p.m. C. 3000r.p.m.

B. 1500 r.p.m. D. 1440 r.p.m.

Nuclear reactor generally employ

A. Fusion. C. Both fusion and fission.
B. Fission. 'D. None of these.

In a fluorescent tube circuit the function of the choke is to

A. Prevent flicker.

B. Improve the power factor of the circuit.

C. Suppress radio interference.

D. Provide a momentary high voltage for establishing the main arc.

Which of the following is preferred for good efficiency and high economy in distribution
systems?

A. Single phase system.

B. Two phase three wire system.

C. Three phase three wire system.

D. Three phase four wire system. -
The colour of the neutral of three-core flexible cable is

A. Red. C. Brown.
B. Black. D. Blue.

Earthing is necessary to give protection against

A. Voltage fluctuation.

B. Overloading.

C. Danger of electric shock.

D. High temperature of the conductors.

Which of the following circuit breakers take minimum time for installation?

A. Air blast. C. Bulkail.

B. Minimum oil. D. Sulphur Hexafluoride(SF6)
Which of the following does not have dual relationship?

A. Current—voltage. C. Tie-set-cut-set.

B. Inductance-capacitance. D. Resistance- reactance.

The reliability of an instrument means

A. The life of the instrument.

B. The extent which the characteristics remains linear.

C. Degree to which repeatability continues to remain high with specific limits.
D

. All of these. .
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2. Write short answers on any five of the followings:

a)

3. Ans
a)
b}
c)
d)
e)

—_— -2-
Which of the following metal is used in semi conductors?

A. Copper. C. Silicon.
B. Plastic. D. Tungston

Match the following: (1x5=5 Marks)

(i) ACSR : Earthing screen

(i) Diode : Lead-acid cell.

{iii) Synchronous scope o Converts A.C. to D.C.

(iv) Protection against lighting ; Overhead conductor

{v) Electrolyte : Parallel operation of generators.

(4x5 = 20 Marks)

With respect to the power generation explain briefly the following points:-

(i) Connected Load

(ii) Maximum Demand

(iif) Load Factor

How many types of the “Ohm-Meter” are there?

Explain the working of the “Electric Petrol Gauge” by an alternator of the automobile.
Explain the term “Hllumination Efficiency”.

What is the function of the “Exciter” in operation of the alternators?

Describe briefly the various materials used in the armature winding.

wer any four of the following: {10x4=40Marks)

Describe the procedure of the rewinding of motor.

What is the working principle of the alternators?
Why do we use “Steel Cored aluminum” conductors for overhead lines?

What is a rectifier? How many types of rectifier are there?
What factors affect the design of the “Systems of Lighting”?
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